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QUESTION 1

Which type of EMC Avamar fault tolerance provides protection against node failure?
A. Checkpoint

B. RAID

C. RAIN

D. HFS check

Correct Answer: B

QUESTION 2

To maintain efficient operations in a Dell EMC Avamar with Data Domain solution, what is the recommended maximum
utilization limit for the Data Domain capacity?

A. 75%
B. 80%
C. 85%
D. 90%

Correct Answer: D

QUESTION 3

What is the default IP address assigned to the management port of an EMC Avamar Data Store node?
A. 10.99.99.5

B. 10.99.99.1

C. 10.99.99.99

D. 10.99.99.0

Correct Answer: A

QUESTION 4
How large is the operating system partition for an AVE installation?

A.20 GB
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B. 40 GB
C.60 GB
D. 80 GB

Correct Answer: C

QUESTION 5

What should you consider when deploying replication between two EMC Avamar servers?

A. Replication target servers must be at the same code level as the source server(s).

B. Replication target servers must have the same generation of hardware as the source server(s).
C. Replication target servers must be on a GigE network.

D. Replication target servers must be the same size or larger than the source server(s).

Correct Answer: D
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